

(فاضلہ دُعاوی)

اساتذہ کرام

پنجشنبہ
اسفند ۱۴۰۴

۲۱

تکلیف ۲۳

۱)

$$\hookrightarrow \text{if } u = \frac{r}{x} \rightarrow \underbrace{\tan^2\left(\frac{r}{x}\right)}_1 + \underbrace{\sqrt{x} \cos\left(\frac{r}{x}\right)}_{\sqrt{x} \times \frac{\sqrt{x}}{x} < 1} = \underline{\underline{2}}$$

$$\hookrightarrow g\left(\frac{r}{x}\right) = f(x) \rightarrow g'\left(\frac{r}{x}\right) = f' \rightarrow$$

$$g'\left(\frac{r}{x}\right) = \underbrace{\left(x \tan u \times (1 + \tan^2 u)\right) + \left(\sqrt{x} \sin u\right)}_{\text{}} \times f'(x) \Rightarrow$$

$$u = \frac{r}{x} \rightarrow \underbrace{x \times 1 \times x}_x + \underbrace{-\sqrt{x} \times \frac{\sqrt{x}}{x}}_{-1} = x$$

$$\hookrightarrow \sqrt{x} = x \times f'(x) \rightarrow \boxed{f'(x) = \frac{\sqrt{x}}{x}}$$

۱۴۴۷ رمضان ۲۲ | 12 Mar 2026

$$4) f(m) = \frac{1 + \cos^m}{1 - \cos^m}, g(m) = \frac{1}{1 - \cos^m} \rightarrow f'(\frac{\sqrt{2}}{2}) - g'(\frac{\sqrt{2}}{2}) = ?$$

$$(f - g)'(\frac{\sqrt{2}}{2}) = ?$$

$$\frac{(1 + \cos^m)(1 - \cos^m + \cos^m)}{(1 - \cos^m)(1 - \cos^m)} = \frac{1 - \cos^m + \cos^m}{1 - \cos^m}$$

$$\rightarrow \frac{1 - \cancel{\cos^m} + \cancel{\cos^m}}{1 - \cos^m} = \frac{1}{1 - \cos^m} = -\cos^m$$

$$\rightarrow (-\cos^m)' = \sin^m(x) = \sin^m(\frac{\sqrt{2}}{2}) = \boxed{\frac{-1}{\sqrt{2}}}$$

$$* 1) \lim_{n \rightarrow \infty} \frac{1}{n} \sqrt{n} \rightarrow \sqrt{\frac{1}{n}} \rightarrow \sqrt{\frac{1}{\infty}} \rightarrow 0$$

$$\lim_{n \rightarrow \infty} \frac{1}{n} \sqrt{n} \rightarrow (1 - \frac{1}{n}) \sqrt{n} \quad (I)$$

$$\lim_{n \rightarrow \infty} \frac{1}{n} \sqrt{n} \rightarrow (\frac{1}{n} - \frac{1}{n}) \sqrt{n} \quad (II)$$

$$\rightarrow (I) = 1 \sqrt{n} + \frac{a}{\sqrt{n}} \left(\frac{1}{n} - \frac{1}{n} \right) \rightarrow 1 \sqrt{\frac{1}{n} a}$$

$$\rightarrow (II) = -1 \sqrt{n} + \frac{a}{\sqrt{n}} \left(\frac{1}{n} - \frac{1}{n} \right) \rightarrow -1 \sqrt{\frac{1}{n} a}$$

$$\rightarrow \sqrt{\frac{1}{n} a} - (-1 \sqrt{\frac{1}{n} a}) = \sqrt{\frac{1}{n} a} + \sqrt{\frac{1}{n} a} = 2 \sqrt{\frac{1}{n} a} \rightarrow \sqrt{\frac{1}{n} a} = \sqrt{\frac{1}{1} a} = \sqrt{\frac{1}{1}}$$

$$\rightarrow \sqrt{\frac{1}{n} a} = \sqrt{\frac{1}{1} a} = \sqrt{\frac{1}{1}}$$

$$\rightarrow \sqrt{\frac{1}{n} a} = \sqrt{\frac{1}{1} a} \rightarrow \boxed{a = \frac{1}{1}}$$

٣) $y + ay = r \rightarrow n \in \mathbb{R} \rightarrow$ $\mathbb{R} \cup \mathbb{C}$

✓ $f(r) + f'(r) = 1 \rightarrow f'(r) = ?$

$y = -ay + r \rightarrow f'(r) = -a \} -ra + r - a = -1$

$\hookrightarrow y = f(r) = -ra + r \rightarrow -a = -r \rightarrow a = \frac{r}{\delta}$

$\hookrightarrow f'(r) = -a = \boxed{-\frac{r}{\delta}}$

د) $\forall y - n = 0 \rightarrow \frac{a_{n-1}}{r_{n+1}} \rightarrow a \in ?$

$\hookrightarrow \frac{a_{n-1}}{r_{n+1}} = \frac{\delta + n}{V} \rightarrow V a_{n-1} - V \delta r_{n+1} = 0$

$\rightarrow r_{n+1} (-Va + \delta) = 0 \rightarrow (1 - Va)^r = 1 \text{ (if } \delta = 0)$

$\rightarrow |1 - Va| = 1 \rightarrow a \in \frac{\mathbb{R}}{V} \rightarrow ! 2 \text{ cases}$

$a \in \mathbb{R}$

$a \in \mathbb{R} \rightarrow r_{n+1} (-Va + \delta) = 0 \rightarrow r(n - r) = 0 \rightarrow n \in \mathbb{R} \checkmark$

$\hookrightarrow a \in \mathbb{R}$

٤) $n \in \mathbb{R} \rightarrow r_{n+1} = a = 0 \rightarrow 1 + a = \boxed{a = 1}$

$\hookrightarrow n + a = b = 0 \rightarrow \underbrace{1 - r}_{-1} - b = 0 \rightarrow \boxed{b = -1}$

$\rightarrow b - a = -1 + 1 = \boxed{-1}$

$$V) \quad L(u) = \sin^n(u) \quad \text{then} \quad \frac{L(u) L'(u)}{(1 - \cos u)^m} \approx \sqrt{2}$$

$$m+n \rightarrow ?$$

$$\rightarrow \infty \frac{0}{0} \rightarrow \text{L'Hôpital} \rightarrow$$

$$A) \rightarrow y \cdot \frac{\sqrt{n+1}}{\sqrt{n}-1} \rightarrow y\sqrt{n} - y \cdot \sqrt{n+1}$$

$$y\sqrt{n} - \sqrt{n} \cdot y+1 \rightarrow \sqrt{n}(y-1) \cdot y+1$$

$$\rightarrow \sqrt{n} \cdot \frac{y+1}{y-1} \rightarrow n \cdot \left(\frac{y+1}{y-1}\right)^2 \rightarrow y^2 \cdot \left(\frac{n+1}{n-1}\right)^2$$

$$\rightarrow y \cdot \frac{n^2 + n + 1}{n^2 - n + 1} \xrightarrow{n \rightarrow \infty} y' \Rightarrow \frac{(n+2)(n^2 - n + 1) - (n-2)(n^2 + n + 1)}{(n^2 - n + 1)^2}$$

$$\approx \frac{(4 \times 1) - (2 \times 9)}{1} = -14 \approx \boxed{-15}$$

$$9) f(n) = (n^r + 1)^n (an + 1) \rightarrow [-1, 0] \rightarrow 11$$

$$\hookrightarrow \frac{f(0) - f(-1)}{0 - (-1)} \rightarrow \frac{1 - (1 \times (-a + 1))}{1} = 11$$

$$\rightarrow \frac{1 + 11a - 1 \times 2^{-1}}{11a - 1} \rightarrow 11a \times 2^{-5} \rightarrow a = \frac{1}{11}$$

$$\rightarrow a = \frac{1}{11} \times 2^{-5} = \frac{1}{11 \times 32}$$

$$\rightarrow f'(1) = (n^r + 1)^n \left(-\frac{1}{r} n + 1\right) \rightarrow$$

$$r(n^r + 1)^r (r n) \left(-\frac{1}{r} n + 1\right) + \left(-\frac{1}{r}\right)(n^r + 1)^r =$$

$$\frac{r \times 1 \times r \times 1 \times \frac{1}{r}}{1r + -r} + \left(-\frac{1}{r} \times 1\right) = \boxed{1}$$

$$10) \rightarrow \frac{f(\frac{r}{r}) - f(\frac{r}{r})}{\frac{r}{r} - \frac{r}{r}} = \frac{-1 - (0)}{\frac{r}{r} - \frac{r}{r}} = \frac{-r}{r}$$

$$f(\frac{r}{r}) = \frac{r}{r} \times \frac{r}{r} = 1 \quad f(\frac{r}{r}) = \frac{r}{r} \times 0 = 0$$

$$\hookrightarrow \frac{f(\frac{r}{r}) - f(\frac{r}{r})}{\frac{r}{r} - \frac{r}{r}} = \frac{1 - 0}{\frac{r}{r} - \frac{r}{r}} = \frac{1}{0} = \frac{r}{r}$$

$$\rightarrow \frac{-\frac{r}{r}}{\frac{r}{r}} = \boxed{-1}$$